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WEST BENGAL STATE UNIVERSITY
B.A./B.Sc. Honours 6th Semester Examination, 2022

ECOACORI14T-EcoNnoMmics (CC14)
INTERNATIONAL ECONOMICS

Time Allotted: 2 Hours Full Marks: 50
The figures in the margin indicate full marks. aNfer T F0Z TN Q"Y/VW fac T
Candidates should answer in their own words AT TS ST ITET NN I
and adhere to the word limit as practicable. es PRE

I. Answer any five questions from the following: 2x5=10

fAiefie @-a 25 des e nhes

(a) What are the causes of trade between two countries?
o oo e &6 & e ey zre 7 ¢

(b) Define comparative advantage when labour is the only factor of production.
B T4 TAMCTR GFAG AW, S GeRFTs 3 R Iked wie |

(c) What is the infant industry argument for tariff protection?
it wrE 7cF fi Mg e el o

(d) What is meant by effective rate of protection?
TR PISA B PICP A0 2

(e) Distinguish between nominal and real exchange rates.

W[ ¢ eipe R Q@R Wy 21w 9

(f) Give an example of absolute advantage in international trade with two countries, two
products and one factor of production.

w2 (7, 70 ¥ @R @B TAMICTR (@ifFFce Reaifdrsy saw ARk @b Swizgel wie)

(g) What will be the shape of the production possibility curve with constant opportunity
cost of production for both commodities?

IS A T AR TeoAme T @R NGO @ 2(J 2
(h) Give two examples of transaction in current account in Balance of Payment.

@ AR (FCG 5eTo 0O @TICR o Srizdel Wi |

2. Answer any four questions from the following: 5x4 =20

fsERke @@ oIafe are Ted nies

(a) Show that in Ricardian Model, gains from trade of a country can be decomposed into

two parts.
male @ RFIfEaE weE aewes i @ 3 @eR ae 1t el Ree
A AF |
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(b) State and prove Rybczynski Theorem.
TR afeovi @l @3k e Tt

(¢) What is optimum tariff? Derive the formula of optimum tariff. 2+3
I WM ©F 29 00 & @RI 9 Iy il wiws w5 e s

(d) Write a short note on foreign trade multiplier with foreign repercussion effect.
A Aifey @l ReAmePe ee” F2FIE A IR

(e) Explain the partial equilibrium effect of import quota.
SREIE SR IR S SAfiee FaEen der sl F

(f) What is meant by ‘Leontief Paradox’? What are the possible explanations of Leontief
Paradox?

ferewbrcr Fore Fwice & @RIT ¢ 98 ForeIeR 7l Jinef i & ¢

3. Answer any two questions from the following: 10x2 =20
fasfeie @-ie 76 acea Ted wies

(a) Establish the Heckscher-Ohlin theory of trade in terms of physical definition of
factor abundance.

Triiieie 2R (ofe TR&IF AR e ey @AbF-efom ol i Fl|

(b) Define Balance of Payment equilibrium. How do you relate current account deficit 5+5
with government budget deficit and deficit in domestic private saving investment
sector?

ST AT T A IS F @RI 9 NTEH([OF TR Helfe TS qofe
fFoi@ el Fdiwe Aces qofe gk ow Fed [ qibfen e FRige, ©f
BINIRISIE

(¢) (1) Define and derive offer curve of a country. 6+4

(i1) What is meant by elasticity of offer curve? Explain.
(i) @ iR Alfeiey 28R @R W@ 7ie @3k Afdey ewE @ I FRee FEi

(ii) sy 2B @R FFfog7Fel To7ce [ @RIT 2 AT FE

(d) “Factor intensity reversal do not cause any barrier in the way of factor price
equalisation”— Do you agree? Explain your result.

“Triwi e (@eiRhey AcETe e sy Svimis eeR et Siee e — Wi
& @9 9 I N

N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp
to their own respective colleges on the same day / date of examination within 1 hour after
end of exam. University / College authorities will not be held responsible for wrong
submission (at in proper address). Students are strongly advised not to submit multiple
copies of the same answer script.
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